Year 8 Mathematics Learning Journey: Unit 8

- Tables and Probability

Step 14 (H): Product rule
and total outcomes

Step 12 (H): Complement of

a set
sets

Why or why not?

Is commutativity important
when working out the total
number of arrangements?

Steps 10 & 11:
Intersection and Union of

If ¢ = (Integers between 1 and

20). Write down the elements

in the complement of the set
A = (factors of 15).

A&

{ &

= (-10, -8, -6, -5, -4, -2, 0)
B=(2,-1,0,1,2)
Write down the sets AN B
and Au B.

Step 6: Probability from

Step 9: Interpret and
create Venn diagrams

Step 5: Constructing
sample spaces

sample space Step 7: Probability from

two-way tables

Two dice are thrown. Mo thinks
the probability of getting two

t

A spinner is spun and a
fair dice is rolled at the
same time. Construct a
sample space to list all
the possible outcomes.

How do you decide which

. 2 .
sixes must be —. Mo is wrong. row or column to look at?

Complete a Venn diagram
for:
¢=1(0,1,2,3,4,5,6,7,8,9,10)
A = (even numbers)

B = (factors of 10)

Explain why.

Step 3: Sum of probabilities

Step 4: Probability
of a single event

What does
‘random’ mean?

Step 1: Vocabulary of
Probability

Julie randomly selected chocolates from Step 2: Probability
a box containing dark, milk, white and Scale
mint chocolates. There is an equal
chance of selecting a white or a mint P WhY_doeS the
chocolate. Copy and complete the table. probability scale end
Mint at 1?

Dark Milk White

Give an example of an
experiment with two
outcomes that are not
equally likely.
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